
 

3.11 Three complete
residue systems mod 4

Canonical O 43
piu.tt

Any a EZ a 4 qtr where Oert 3

a r 4q
a r mod 4

Anotkgcontmhiynegat.us i OT T 5 35
Complekresidnesystem i Each a c 21 is congruent

to exactly ofthese numbers

a is a multipleof 4 a o mod4

a L mod4 a O Cmod4

Il Y mad4

I 3

a 2 Cmod4 a z 4 mod4

I 2 model

a 3 Canada a 3 4 mad4

I I lined4

Ahotterongantuniyno2conseeutenumt

0,5 2,7



Linearcongmencies

Goal Ginn integers a and b find all integers

satisfy

ax 6 mod n

Is it ok to abide both sides by a
what would that even mean

Finding all integer solution is Overhill

Just find the ones in the CCRS

Rendon If is a solution then so is it kn

Ex Find all solutions in the CRS to

3 25 mod 4

CRS 0,1 2,3

Bmtefoyce 3103 0 mod 4

25 I cured 4 X

3 l 3 mod4

367 6 I 2 mod4 X
a 3 3 I 9 1 mod4



NextHW 3.18 3 20 3 22

24 x E 123 mod 213

Key ider Solving ax b mod n

is the sane as solving the equation

ax thy b Exam 2 3

3.11 cars 91,3 n B

Jother complete reside system as au
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In patrol 0 is congruent to exult oneof ai
hi
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